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PHYS 101

Ch. 5

Applying Newton’s Laws

Physics Department
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Example 2: e
..\\\\\l
In the figure, M=2.5 kg 1s on a horizontal frictionless

surface and m=1.5 kg is hanging. The moom_ogaos of the
blocks 1s: V)

= \«b

Solution: M+ Ma

liding
ZOnm S

=

(A) 36.75 m/s?
(B) 3.675m/s* 4 _ 9
(C) 0.367 m/s? 5 4/5 18

) Zero
qQ=3-675 \%\MQ

Frictonless
surface
Hanging
block H
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Refer to Example 2, the tension in the cord is:

an -~ r .M\_\u
A»Pv N@H.O b.bh\\ Sliding
(B) 919N /[7q e
(C) 9.19N

(D) 0.91N T 0.5 y3.495

Frictionless
surface

Hanging
block H
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In the figure, two blocks connected together with cord over

a pulley where m,=2 kg and m, =3 kg. The acceleration of
the blocks is:

A M2 — M Xu
M+ me
(A) 19.6 m/s?
(B) 1.96 m/s? e,
(C) 0.19 m/s? ~ 240 7\

d= /.94 S\MN
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Solution:
P

(A) 23.52 N
(B) 2.352 N
(C) 0.235N
(D) 0.023 N
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Example 6:
. =V
In the figure a 10 kg box is pushed at a constant speed up

the frictionless ramp by a horizontal force F. the magnitude
of F is:

Solution:

—

(A) 24.5N
(B) 98 N

C) 49 N ,
AW 28.3 N f- 4 &

7

s

u\ox?%u‘\wﬁoﬁu 2
= Y4

R P
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Example 8:

A 1000 kg elevator
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The tension 1n the cable 1s:

Solution:

(A) 9800 N
(B) 6800 N
(C) zero N
(D) 12800 N

University of Jeddah
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1s moving up with acceleration 3 m/s?.
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Example 9;

Two blocks (A and B) are in contact on a horizontal
frictionless surface. A 50 N constant force is applied to B
as shown. The tension in the cord is: ~ .

Solution:

(C)
(A) 25 N 50=(5+20) q

(B) 20 N Q=2 m/s?

my =5 kg mg = 20 kg
@HOZ mf m HS%.QQ

D) 5N

University of Jeddah Physics Department




R
aﬁ%%@@&%ﬁﬁ
NS /N/// R

SRR
wfff/f%/%wﬁxﬁwgf
5

ﬁwﬁéﬁ%
S
S wf«,ﬂ?f S

S S

. A ./MMN/M;NWV %A«;@Wﬂwx i
.ﬁ‘.n%w S »wV/ ..f.v ﬁ/ .&.W.. &
R e TR
- fw/&%%ﬁ%ﬁs R : rff..ﬁﬁv% 5
G

s
L
52 sv/); 55 e fmwmwm.mr'.ﬂww«r; %m;...{mwaﬂnwwwmwv /ﬂ«ﬁ% 55

N
3

3 s/// %

L

SN

Sawn B ,./ sy S @/@.@%f»ﬁ;@« R ,..,M

& &.WMN& @.s“m. ....“,. M/W. i S /lJmﬂW: 3 mﬂw% /gﬂwfafﬁwﬁﬁ BN

%&%fﬁ?gﬁ%ﬁ% 3 ,/w,w.,”/o L
-
LA R SRR Sl

Example 10; -

The fractional force on a moving body is proportional to
the:

e = A - 1Y -
(A) force casing the motion Qv@b\hwum\
(B) weight of the body

(C) acceleration of the body
(B normal force on the body

University of Jeddah Physics Department
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A boy pulls a wooden box along a rough horizontal floor at
constant speed. Which of the following must be true?

feiné

ﬂ

(D) g \M ) G5 6
(A) F cosO > f, and N=W f
(B) F =f, and N>W e
(C) F>f, and N<W

@ F cosO =f, and N=W- F sin©

Solution:

Universicy of feddab Physics Department




Mv,ﬁv»v y¥'» coefficient of static friction y_ is:
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Example 12:

A block slide on a rough surface (see mmﬁmv. The block
start to slide when a parallel force of 30 N is applied. The

N

(A) 0.67
(B) 0.33
(C) 0.4
D) 1

University of Jeddah
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Example 13:

A car has mass of 1700 kg 1s moving with a constant speed

E—————

of 25 m/s in a circular track of a radius 200 m. The car tires
static friction coetticient with the road is:

(C)
(A) 0.67
(B) 0.4 LUV\\SV%S
(C) 0.32 —
)1 25 = ) s X900 X9-8

\N\mno,wn

B> A2 ol
University of Jeddah
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